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· 
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[image: ]4.2.1 Conditions that prompt trade
Hot Chip will employ a manager in each of its outlets. These managers could use a broadly autocratic or democratic leadership style.

1	Evaluate these two options and recommend which is the most suitable leadership style for a business such as Hot Chip.
(20)
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2	Using the data in Extracts E and F, calculate the amount Pfizer would have saved in 2014 if it had paid corporation tax in Ireland, rather than the USA. 
You are advised to show your working.
(4)
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3	Assess the likely consequences for Ford of its joint venture with Mahindra.
(12)

















4.2.5 Global competitiveness
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4	Using the data in Extract A, calculate the UK retail price of a PS4 to the nearest pound if the exchange rate is £1 = $1.68. You are advised to show your working.
(4)
	
	
	
	
	
	
	
	




	Question Number
	Indicative content
	Mark 

	1
	Knowledge 4, Application 4, Analysis 6, Evaluation 6

Option 1
· Autocratic leadership assumes that decision-making is best kept with managers, who will direct subordinates with little consultation
· Autocratic leadership can suit fast-paced business environments such as the fast food business, where quick customer service is an expectation and staff may not have time to ask questions or consult on decisions such as the best way of organising the processing of customer orders
· Autocratic leadership can also suit businesses with high staff-turnover, which is often a characteristic of fast food businesses – workers may receive limited training and need direction from an experienced manager.
· As Hot Chip is a new business, with a unique product, it may be that the owners want managers to direct workers in an autocratic way so that the business culture can be established and high levels of customer service through accurate food orders and quick service, are provided

Option 2 
· Democratic leadership means leading a business based on decisions agreed by the majority.  It involves consultation between managers and subordinates.
· Democratic leadership might suit a new business such as Hot Chip because subordinates who are serving customers will gain an understanding of what is popular and what customers see as important – this can be relayed to managers in meetings and inform decisions about menus, working rotas, and dishes/flavours
· Evidence D suggests that managers in the fast food industry that train and listen to employees tend to help deliver higher levels of customer service.  This comes from open communication and offering a realistic perspective on working in the fast food business.
· As a new business Hot Chip may recruit staff from other fast food outlets that can offer suggestions of procedures and ways of organising that work well.  If managers can take advantage of this knowledge and experience, this could improve the performance of Hot Chip as it establishes itself.

Potential judgement:
· Autocratic leadership may be most suitable in the first few months of a new Hot Chip saloon opening.  This should provide stability and clarity to new staff as they join and could help Lord Somerleyton establish a clear business culture in keeping with the values he had in setting up the business.
· Hot Chip is a different type of fast food outlet to places such as McDonalds – its menu is still evolving and consulting with employees from the beginning is likely to have a positive impact on customer service and the way staff are organised and work.
· It is likely that managers may use a combination of leadership styles, but the one which is most dominant may depend on the priorities that Lord Somerleyton has for the business and linked to this, the nature of the managers recruited.
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	Level
	Mark
	Descriptor

	
	0
	A completely inaccurate response.

	Level 1
	1–4
	Isolated elements of knowledge and understanding. Weak or no relevant application of business examples.
An argument may be attempted, but will be generic and fail to connect cause(s) and/or consequence(s)/effect(s).

	Level 2
	5–8
	Elements of knowledge and understanding, which are applied to the business example.
Arguments and chains of reasoning are presented, but connections between cause(s) and/or consequence(s)/ effect(s) are incomplete. Attempts to address the question.
A comparison or judgement may be attempted, but it will not successfully show an awareness of the key features of business behaviour or business situation.

	Level 3
	9–14
	Accurate and thorough knowledge and understanding, supported throughout by relevant and effective use of the business behaviour/context.
Uses developed chains of reasoning, so that cause(s) and/or consequence(s)/effect(s) are complete, showing an understanding of the question. Arguments are well developed.
Quantitative or qualitative information is introduced in an attempt to support judgements, a partial awareness of the validity and/or significance of competing arguments and may lead to a conclusion.

	Level 4
	15–20
	Accurate and thorough knowledge and understanding, supported throughout by use of relevant and effective use of the business behaviour/context.
Uses well-developed and logical, coherent chains of reasoning, showing a range of cause(s) and/or effect(s). Arguments are fully developed.
Quantitative and/or qualitative information is/are used well to support judgements. A full awareness of the validity and significance of competing arguments/factors, leading to balanced comparisons, judgements and an effective conclusion that proposes a solution and/or recommendation(s).

























	Question Number
	Answer
	Mark 

	2
	Knowledge 1, Application 3

Quantitative skills assessed:
QS2: calculate, use and understand percentages and percentage changes
QS9: interpret, apply and analyse information in written, graphical and numerical forms

Knowledge: 1 mark for understanding how corporation tax is calculated e.g.
· Profit x corporation tax rate (%)

Application: up to 3 marks
· Corporation tax in USA was 40% in 2014, so Pfizer’s tax would be $9.135bn x 40% = $3.654bn
· Corporation tax in Ireland was 12.5% in 2014, so Pfizer’s tax bill would have been $9.135bn x 12.5% = $1.141875bn
· Therefore, they would have saved $3.654 - $1.411875 = $2.512125bn had they been based in Ireland.

NB: if answer given is $2.512125bn award 4 marks
Accept any accurate version of $2.5bn to a range of decimal points.

An alternative way of getting the same answer as above:
· $9.135bn x 1.4 = $12.789bn (USA); so $12.789bn – $9.135bn = $3.654bn Tax
· $9.135 x 1.125 = $10.276875bn (Ireland) = $10.276875bn – $9.135bn = 1.141875
· Therefore, they would have saved $3.654bn - $1.141875bn = $2.512125bn had they been based in Ireland

Situation 2 – The candidate assumes that $9.135bn is after tax and we need to add tax on USA and Ireland and compare the difference:

· If 9.135bn is after tax, we need to add the tax on again

· The calculation for this is:
After tax figure
100% – tax rate %    X 100

· So, for Pfizer in the USA: $9.135bn/60 x 100 = $15.225bn before tax.  Therefore, tax paid in USA is $15.225bn – $9.135bn = $6.09bn
· In Ireland it is: $9.135bn/87.5 x 100 = $10.44bn before tax. Therefore, tax paid in Ireland is $10.44bn - $9.135bn = $1.305bn
· Therefore: $6.09bn - $1.305bn = $4.785bn

Accept any answer, rounded correctly up to 1.d.p. i.e:
$4.8bn
$4.79bn

Situation 3 – The candidate assumes that $9.135bn is after tax and that Pfizer paid tax in Ireland at the original pre-tax profit level

· If 9.135bn is after tax, we need to add the tax on again
· The calculation for this is:

After tax figure
1 – tax rate (%)     X 100

So, for Pfizer in the USA: $9.135bn/60 x 100 = $15.225bn before tax. 

· Pfizer’s tax bill was therefore: $15.225bn - $9.135bn = $6.09bn
· Pfizer would therefore pay $15.225bn x 12.5% = $1.903125bn in Ireland
· The saving is therefore $6.09bn - $1.903125bn = $4.186875bn

Accept any answer, rounded correctly up to 1.d.p. i.e:

$4.186875 bn
$4.18688 bn
$4.1869 bn
$4.187 bn
$4.19 bn
$4.2bn
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	Question Number
	Indicative content
	Mark 

	3
	Knowledge 2, Application 2, Analysis 4, Evaluation 4
· A joint venture may be a one-off or temporary arrangement, or a lasting collaboration in a specific market.  
· In this case, the Ford-Mahindra deal is for three years. There is no change of ownership and the relationship between the two businesses will be controlled by legal agreement.
· Ford is likely to gain increased sales from its joint venture with Mahindra as they are likely to know the specific needs of the Indian market and have access to workers familiar with this market.
· Ford may gain economies of scale and a lower cost structure from Mahindra's existing manufacturing plants, Mahindra will get access to Ford engineering knowledge and expertise in Sports Utility Vehicles.
· As an American brand, Ford may be seen as desirable for aspirational consumers in an emerging market such as India. This is because Ford is associated with the USA and ‘Western lifestyles’, that are desirable by some consumers in India.

Potential counterbalance
· Ford and Mahindra may have different visions for how the joint venture will work, which can lead to disagreements over business strategy such as pricing and marketing.
· Indian consumers may be confused by the two businesses working together, which could limit sales.  Mahindra is an established brand in the Indian market, Ford less so and their brand strength may be diluted by this arrangement.
· As the joint venture develops, the aims of Mahindra and Ford might diverge: Mahindra may want to focus on budget sales, while Ford may want to target higher socio-economic groups.
· Mahindra might benefit from transfer of knowledge of new technology and techniques, so once joint venture ends, it can use this knowledge to compete with Ford.




Potential judgement  
· The joint venture is likely to benefit Ford as it could reduce its manufacturing costs as Mahindra provides the chassis for the new SUV enabling Ford to be more price competitive in the Indian market where incomes are relatively low so making the cars more affordable so sales may increase.
· The main consequence of the joint venture is likely to be positive for Mahindra, rather than Ford as it gain sales from the support of the Ford brand and their expertise in selling Sports Utility Vehicles in other markets.  This success will depend on the degree to which Mahindra and Ford can agree on the overall strategy for the three years.
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	Level
	Mark
	Descriptor

	
	0
	A completely inaccurate response.

	Level 1
	1–2
	Isolated elements of knowledge and understanding – recall based.
Weak or no relevant application to business examples.
Generic assertions may be presented.

	Level 2
	3–4
	Elements of knowledge and understanding, which are applied to the business example.
Chains of reasoning are presented, but may be assertions or incomplete.
A generic or superficial assessment is presented.

	Level 3
	5–8
	Accurate knowledge and understanding, supported by relevant and effective use of the business behaviour/context.
Analytical perspectives are presented, with developed chains of reasoning, showing cause(s) and/or effect(s).                                   An attempt at an assessment is presented, using quantitative and/or qualitative information though unlikely to show the significance of competing arguments.

	Level 4
	9–12
	Accurate and thorough knowledge and understanding, supported throughout by relevant and effective use of the business behaviour/context.
A coherent and logical chain of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, wide ranging and well contextualised, using quantitative and/or qualitative information and shows an awareness of competing arguments/factors leading to a supported judgement.
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Extract C
‘High frying’ Norwich entrepreneurs

Lord Somerleyton and his business partner Toby Marchant opened Hot Chip in Norwich
in June 2013. Within a year, it had won best chip shop in Norfolk at the National Chip
Week awards.

They now plan to open a ‘Hot Chip Saloon; to target the late-night economy. Lord 5
Somerleyton said: “Before we can turn Hot Chip into a national brand we know we need
to have between three and five successfully trading shops.”

The entrepreneurs also hope to open a Hot Chip van. The idea came from visiting Great
Yarmouth'’s chips stalls and the incredible success of chips as a meal in themselves on the
continent. Lord Somerleyton said: “We went around 30 to 40 fish and chip shops in East 10
Anglia and found as much as 50% of their sales were just portions of chips.”

Hot Chip sales data showed that chips and cheesy chips had initially been most popular,
but customers were increasingly trying more adventurous toppings and sauces, such as:
hot salt beef, gherkin relish, melting Swiss cheese and mustard mayonnaise.

(Source: adapted from © 2017 Archant Community Media Ltd)




image3.png
Extract E
Pfizer merges with Allergan

In 2015, American healthcare business, Pfizer, announced a merger with Irish Botox
maker, Allergan plc, in a deal worth $160bn. The merger created the world’s largest
producer of drugs and shifted Pfizer’s headquarters to Ireland — a member of the
European Union. Its headquarters are in Dublin; the business also manufactures in Cork
and Sligo. This was the biggest ever instance of a US company relocating its headquarters
overseas in order to lower its taxes.

The deal provided access to about 70 additional worldwide markets for specialist
Allergan products, such as Botox wrinkle treatment, Alzheimer’s drug Namenda and dry-
eye medication Restasis. It was not known at that time how many jobs would be lost as a
result of the merger.

For 166-year-old Pfizer, Allergan was the fourth merger or takeover in the previous 15
years, following the purchases of Warner-Lambert, Pharmacia and Wyeth. Pfizer made
profits of $9.135bn in 2014. This also caps a record year for global healthcare mergers,
taking their total value in 2015 to more than $600bn.

(Source: adapted from http://www.reuters.com/article/us-
allergan-m-a-pfizer-idUSKBNOTBOUT20151124)
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Extract F

Top rate of Corporation Tax as (%) of profits in selected economies

Location 2014 2015
Ireland 125 125
United Kingdom (UK) 21 20
United States (USA) 40 40
Asia (average) 2191 21.96
European Union (average) 21.34 2225
Global (average) 2364 2372

(Source: adapted from https://home kpmg.com/xx/en/home/services/tax/
tax-tools-and-resources/tax-rates-online/corporate-tax-rates-table html)




image5.png
Extract G
Ford and Mahindra joint venture

Mahindra, an Indian-based car manufacturer, and Ford have signed a deal to develop
a new Sports Utility Vehicle (SUV) for the Indian market. These will have a Ford body and
badge, but will be based on a car chassis (frame) that will be made by Mahindra.

The deal will see Mahindra and Ford cooperate with each other for a period of three
years. While Ford may gain economies of scale and a lower cost structure from Mahindra’s
new car chassis, Mahindra will get access to Ford’s engineering knowledge. Mahindra

will also get support in global emerging markets, including Ford’s manufacturing and

car distribution network. The Managing Director of Mahindra Ltd said, “Both teams are
working together and building on mutual strengths. We are excited about the synergies
unveiled through this joint venture and the potential opportunities it will bring.”

(Source: adapted from https://auto.ndtv.com/news/ford-and-mahindra-
confirm-jointly-developed-suvs-electric-car-for-india-1827425)
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Extract A
Sony launches PlayStation 4 (PS4) at a price close to cost

The video games console market is very dynamic. There are three main console
manufacturers: Nintendo, Sony and Microsoft. A console war started in November 2013
when Sony launched the PS4, followed one week later by the release of

Microsoft’s Xbox One.

Experts consider the PS4 to be the most powerful video games console ever produced.
The global mark-up per console is surprisingly low at 4.2%.

Component costs US dollars ($)
Electrical components 348
Controller 18
Box contents 6

(Source: adapted from http://alithingsd.com/20131119/
teardown-shows-sonys-playstation-4-costs-381-to-build/)
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Question
Number

Answer

Mark

1(b)

Knowledge 1, Application 3

Quantitative skills assessed:

QS2: calculate, use and understand percentages and
percentage changes

QS9: interpret, apply and analyse information in written,
graphical and numerical forms

Knowledge: 1 mark for
* unit cost = $348 + $18 + $6 = $372

Application: up to 3 marks for
+ calculate mark-up = $372 x 1.042 = $387.62
« convert US retail price to UK £ = 387.62 /1.68
* UK retail price = £231

or
Knowledge: 1 mark for
* unit cost = $348 + $18 + $6 = $372

Application: up to 3 marks for

« convert US retail price to UK £ = 372/1.68 = £221.43

« apply mark up of 4.2%
* UK retail price = £231

NB: if answer given is £231 award 4 marks.

4)





